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Experiment4 ELIMINATION REACTION: PREPARATION OF CYCLOHEXENE FROM CYCLOHEXANOL
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1. Present the yield and calculate the yield-% (show your calculations):
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2, Report the measured refractive index of the product and its literature value:
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Vastaa kysymyksiin suomeksi.



3. Present both the chemical equation and detailed reaction mechanism of the reaction (present the

literature reference): ® ."\;L O
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4, What would have been the major product in this experiment if the starting compound had been 2-
methyl cyclohexanol mstead of cyclohexanol? 5-\-3)3;&:&11@ kjf)ukai'
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5. Phosphoric acid is a catalyst in this experiment. How does catalyst (in general) enable chemical
reaction?
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6. What is meant by saturated solution (for instance saturated NaCl-solution)?
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7. What are the two functions of CaCl, in this work?
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Vastaa kysymyksiin suomeksi.



